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QUESTION 1

Which subcommand can be used to generate a server configuration file containing thecurrently configured, but not
necessary active, configured values?

A. write
B. restore
C. verify
D. read

Correct Answer: B

QUESTION 2

If a transaction places an update lock on a data page, what type of lock will a second transaction get if it attempts to
read the data using a SELECT statement?

A. Another UPDATE lock

B. SHARED lock

C. EXCLUSIVE lock

D. No lock is placed as process will be blocked

Correct Answer: B

QUESTION 3

Which of the following are true about lock promotion? (Choose 3)

A. If other tasks hold locks conflicting with the type of table lock needed, lock escalationoccurs.

B. If other tasks hold locks conflicting with the type of table lock needed, lock escalationdoes not occur.
C. Page locks can be promoted to intent locks.

D. Page locks can be promoted to table locks.

E. Row locks can be promoted to page locks.

F. Rowlocks can be promoted to table locks.X

Correct Answer: BDF

QUESTION 4
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Given that the following commands are successfully executed:
use mydb go

select * into #myusers from sysusers go

In which database does #myusers exist?

A. master

B. model

C. mydb

D. tempdbX

Correct Answer: D

QUESTION 5

One of the reasons to create a user defined segment is to (Choose 2)
A. place a system table on its own devicE.

B. place a user table on its own devicE.

C. place an index on its own devicE.

D. place a computed column on its own device

E. place a transaction log on its own device

Correct Answer: BC

QUESTION 6

By default, every table in ASE 15.0
A. is hashpartitioneD.

B. is round-robinpartitioneD.

C. requires a placement index.

D. requires a primary key.

Correct Answer: B

QUESTION 7

Which of the following databases is used to store Job Scheduler information?
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A. sybmigratedb
B. sybmgmtdb
C. sybsecurity
D. sybsystemdb

Correct Answer: B

QUESTION 8

Which of the following are true about the dump database command?(Choose 3)

A. can write a single database dump across multiple devices B. makes a full backup copy of the database
C. truncates the transaction log

D. makes a full backup copy of the transaction log

E. drops the database because it is no longer necessary

Correct Answer. ABD

QUESTION 9

What is the value of @@trancount after the execution of a rollback transaction in a nestedtransaction?
A.0

B.1

C. Equal to the number of begin transaction statements executed

D. Equal to the number of begin transaction statements minus 1

Correct Answer: A

QUESTION 10

Which of the following statements are true regarding proxy authorization? (Choose 2)
A. set proxy is only permitted at one level

B. set proxy can be executed within a transaction

C. proxy authorization is granted by the System Administrator

D. set proxy can be executed in a database with a guest user

E. set proxy within a procedure retains the identity of the proxy when you exit
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Correct Answer: AD

QUESTION 11

Which of the following configuration parameters affect the amount of memory required per user connection? (Choose 2)
A. user log cache size

B. heap memory per user

C. number of open objects

D. max network packet size

E. default network packet size

Correct Answer: AE

QUESTION 12

Which of the following statements is NOT true about automatic database expansion?

A. Automatic database expansion is turned off by default.

B. Database expansion thresholds are set per segment.

C. Automatic database expansion is managed by the stored proceduresp_helpdB.

D. Growby and maxsize policies can be set for database devices and database segments.

Correct Answer: C

QUESTION 13

Given the following table definition, start_date will be which of the following when retrieved? Create table rental (cust_id
int, start_date as getdate() materialized, prod_id int)

A. the current date when the record is retrieved
B. the date when the record was inserted

C. the date of the last server restart

D. the current system date

Correct Answer: B

QUESTION 14
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Which alter table clause will change an APL table to allow row level locking?
A. lockdatarows

B. lock datapages

C. lock allpages

D. withfillfactor = 1

Correct Answer: A

QUESTION 15

Which of the following is true regarding the execution of dbcc checkstorage?
A. Named cache must be configured

B. Large buffer pool must be configured

C. Workspace segments must be configured

D. Number of worker processes must be configured greater than 2

Correct Answer: B
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